ATOMIC ENERGY EDUCATION SOCIETY

Worksheet (Module 2/3)

People As Resource (Economics chapter-2)

Class-1X Subject- Social Science

Q.1)_.MCQs- choose and write the correct answer:- (4*1=4mark)
I) On which of the following does the quality of population not depend?
a) Literacy Rate b) Income c¢) Health Status  d) Skill formation
IT) Vocational streams are developed by government for .............
a) High school b) Primary school
¢) Senior secondary school d) College level students

[IT) ‘Sarva Shiksha Abhiyan’ provide elementary education to all children in the
agegroup of ...l

a) 5-10 years b) 6-10 years c) 10-15years  d) 6-14 years
V) Infant mortality rate in 2000 was ...........
a) 82 b) 70 c) 75 d) 35
Q.2) Whether the following statements are True or False:- (2*1=2)
a) Literacy rate of men and women are the same in India.
b) Our sex ratio at present is 933 females for every 1000 males.
Q.3) Answer the following questions:- (3*3=9)
a) What is the role of education in human capital formation?
b) What are the main features of the Sarva Shiksha Abhiyan?

¢) What do you understand by the term ‘Infant mortality rate’?




